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1. #—PIURWLUTHRRAR: THEXA—JEBMEY B (non-degenerate r.v.),
W 1/x A—Mes. (ERAEA) 64).

2. -BWESHEY, MWHHBETZMRSFA0.4, 0.5, 0.6, 4 E 4% bl IR
~8B%, MMM KK, XEEKXMBHEGTURZRE.
2) MR: BB BIX 2 M (p.d.f.) (653)
b) MMXBER-IHASE Mt AE 1 (85))

1 - -
3. ABAHEE B X 2 B Bk B f=R—>R=f(x)=-2—-~e I “: R Y=XIA. Hp

L= {1<¢X<2), (IA AWK R .
a) MRYZRHAREK M (c.d.f.), ¥BW: YRAMHEY, FRASMNY. (104)
b) WK EX-EY=1 (104)
. 2
4. RPEBIRE X Xe, o Xn, AWMTAHRMAZHE, EXa=w, Varki=e >0,
:n=Xl"'"'+Xn. *&Eﬁmﬁ'ﬂl Yn E N(ml.no-z). vneN {Cn}n 2—3“3”5‘5”.

i n_l.igo(P{Snan}-P(Ynan})=0. (104)
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